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I
I 4) 1.4% of £200
I
I
I
I
I
I

the factors of 36.

| Butter J
£ | I I E— _ I I . S S —
r 2) Calculate = Z 2 of 3) Any nonagon
1) 26 % 3 42 em has sides.
5) Write down all |6) 72 + 52— 32

! 7) The reciprocal
I of 8 is

4l [a(y AN call () alcaly () AINCall al) AN Al Ay AN AUl LA () AN Al () AN Al al) LAY Al LAl () Al Al afl 4

8) Circle the
fractions that are
equivalent to
recurring
decimals.

9) Which whole
number has

standard form
5.3 x 104?
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rDel‘u_.rth cleans her teeth twice a day, and follows I
? I her dentists’ advice of cleaning your teeth for at I
': I least two minutes every time. I

Reasoning I Delyth believes that every year she spends more I
Ithan a whole day cleaning her teeth. Is Delyth I
I correct in thinking this?
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Butter =
ﬁ i :._ NI I I I S S B DI S
J 2)30% of 150 g 3) Write down

| 1)475-845 <,> or=in each

I space.

I 30% 0.03
4

I 0.9 =

| 65%  —
20

Id}RmundcﬂfBlBE 5)34-(4+8)x2 |6)5*
I to two significant

I figures.
I 7) Calculate the 8) 0.4 x0.2 9) Increase £40 by
I circumference of a 0.5%.

circle with radius
4 cm. (Usem =
| 314
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rﬂt 250 GB disk drive can hold
9 I 15 hours of high definition
': Ivideo.

Reasoning I How many hours of high
Idefinition video can a
I 400 GB disk drive hold?
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340,000,000 in
standard form.

r i 2) —22.4 = 13) Write dt:-wn — I

I 1) 49+ /4.9 as a mixed I
I 1006 number.

| |

| |

| |

|

|43+31+¥ 5) The fourth root |6) 24.5 x 0.6 '

I of is 2 I

|

|

|

|

|

7) 2.5% of £240 8) Write down 9)8.52+0.3 i

|

|

|

|
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N In a football match between - T N
N ? I Liverpool and Everton, _,_" ?'- .:"' I N
Kl " I Liverpool had 62% of SN .l I N
N Reasoning Ithe pmasless.::::n. The ball ]c I N
was in play for 60 minutes o
% Ithe match. How many minutes and seconds I %
Kl Iiere Everton in possession of the ball? I il
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Butter

M T T T Rz
1) Calculate 2 of
£84,

I 4) Round off 283  |5) The reciprocal |6) Write down half

I to one significant | of 2 s of 5% as a
. 13 :

I figure. decimal.

I 7) What is the 8) 7° x 72 9) 966 + 42

I volume of a cube
I with 6 cm sides?

:
I
I
I
I
i
I
I
I
I
i
I
I
I
I
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er's.. Hughes bought a new —
9 Icar for £14,500. = ;
': IThe car depreciated 12%
Reasoning Iduring its first year, and

I 10% during its second year. I
What was the value of the car at the end of the
Ecnnd year? I
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|Bread & 1‘- Week5 .'r
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/ Butter g %
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1) 86 mm = between Jim and
| N
I m Lora according to I N
the ratio 1:7.

| | &

| | &

| I E

I 4)0.3x0.1 5) The reciprocal |6) Write down half I N{

I of Lis a million in I N

I 12 standard form. I N

| | &

| N=

I I N

I 7) Write down 53 8) 624 x 78 9) What is a I N

I as a top-heavy quarter of 162? bl

I fraction. I %
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? rDuring a raffle for a coffee morning, Eifion won a I

I “20% off” voucher for a clothes shop. I

v IWhen Eifion went to the clothes shop to use his I

Reasoning Iuoucher, he noticed that the shop was having a I
I”SU% off” sale. “Great!”, Eifion said, “l can now

get 70% off all the prices in the shop”. Explain

Ly Efion was wrongnsaying this__ __ __ _
F—___—___—___—__I
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Week 6

1: Double 134 C11: Find the circumferencef a circle
with adiameter of 8cm.

2: Fill in the missing spaces C12: Find the area of a circle with a
diameter of 8 cm.
3. 27
4 12

13: There arep pens in a pack, 2 of
them don’t wor k.
for the number of working pens in a
pack.

3 Calculate1 + §
8 8

14: Simplify 2+ 2o+ 7a+ %
4: Calculate%3 g plify

5: Simplify the ratio 6:8 Cl5: Find the value of @+ hifa=6
andb=4

6: A pack of 3 pens cost 45p. Work out how much a| 16: Calculate 3 +5x 7
pack of 6 pens should cost.

7: Find the next two terms of this sequence 17: Expandi(a + 3)

4, 7, 10, 183,

8: Draw the next picture in this pattern 18: Factorise 3+ 6

I || |

9: Find the nth term of |19 Solvethe equationa8+ 1 =10

10: Write the name of this part of a circle 20:8x8

Mark: Hfort:

4l [a(y AN call () alcaly () AINCall al) AN Al Ay AN AUl LA () AN Al () AN Al al) LAY Al LAl () Al Al afl 4
[dlf [y (N ol al) A(Rcall () AINCall () AN AR AR AN AU AR () AN Al () AN Al () AN AN LAf () AN AR 4

DN U N U N U N N NN N N N TN O N N T N N N



@@@@@@@@@@@EEEEEEEEEE

Week 6 %L L

DECOI’&'[OF

LGQa (KS ad¥YSNIIK DR2AVRISE SR & 2 dzNJ Y!
for your first job.

4 4

You apply for a painter decorator job and totally blow away the competition.

Your first job is to paintthe frogt ¥ | Of ASy i Qa K2dzaSo 2
calculate how much paint will be needed.
\(ENF‘.' .
OLU(\ Oﬁ pa\n
§
5m CO\JEYS an area o}
: \
A\ Window? 2
\yi=
1.5m
im 1.5m
m
2m
10m
1) Calculag the surface areto be painted(Hint: WA Y R2 64 | Yy R R N

be painted)

2) Using the key facts how many tins of paint will be needed?
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Week 7
1: Multiply 3.7 by100 11: Find the circumference of a circle with
a radius of 8 cm.
2: Fill in the missing spaces 12: Find the area of a circle with a radius
3 _ B 27 8 cm.
5> 15
_ 11 7 13: A baby weighs 4kg when born. After g
3 Calculate1—2 " 12 months it weighsn kg. Write an expressio
for the weight gain of the baby over 6
months.

14: Simplify ¢+ 4 +5-8
4: Calculatel—13 1 implify
12 12

5: Simplify the ratio 9:6 Cl5: Find the value of & 2 whenc=7

6: A pack of 6 cans of drink costs £2.40. Work ou| 16: Calculate 263 x 4
how much a case of 24 cans would cost.

7: Write down a term to term rule for this sequend 17: Expand 41+ X)

4., 7, 10, 13,

8: Draw the nexpicture in this pattern 18 Factorise b+ 15

b

99 Find the nth term f (19 Solvethe equationis4 =21

10: Write the name of this part of a circle 20: 7x9

Mark: Effort:
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You have decided that
decorating is not your thing and |
secure a job as a swimming pool |
tiler. \

-I-iling .. —

You pass the interview with flying colours and bag yourself a job with a local
firm specialising in fitting swimming pools.

Yourtask is to calculate the number of tiles needed for the swimming pool

below
’ Facts.-

ey _
) 00\ \S
- mm\ﬂ% P
_The SW

70 deeP

\
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20m

1) Calculate the surface area of the swimming
poolfloor.

2/ £ Odzt S GKS sldddBKI @23 1&RKSLE20KE
the pool?

3) How many tiles would you need to cover the entire p@difit convert
the dimensions of the tile to metrdisst)

4) Calculate the volume of watezquired to completely fill the swimming
pool.

Q¢
o
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Week 8
1: Fill in the box to complete the calculation 11: Find the circumference of a circle
with a diameter of 12 cm.
12 + =158
2: Fill in the missing spaces 12: Find thearea of a circle with a
8 20 diameter of 12 cm.
7 14

13: A pack of balloons contaits
balloons. When they are all blown up, §
of them burst. Write an expression for
the number of balloons blown up.

3 Calculate§ + l
8 4

14: Simplify 8l + 32 -6d - 5
4: Calculateg3 % implify ©

5: Simplify the ratio 4:12 15: Find the value of 8- 4ewhend =12
ande=4

6: A pack of 4 toilet rolls £3.99. Work out how much| 16: Calculate 3 x%5
would a pack of 12 toilet rolls cost.

7: Fill inthe missing terms in this linear sequence 17: Expand 7(@- €)

8 , 14, ... : 26,

8: Draw the next picture in this pattern 18: Factorise @+ 14

EE
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9: Find the nth term f oll9 Solvethe equation®+ 4 =22

10: Write the name of this part of a circle 20: 12 x 6

Mark: Effort:
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Week 8
Product Designer

Whilst studying at university yaecide '
to take a placement year to gain !
valuable work experience

3
4 4l () AN AN Al Ay (N AN Al Al Al () AN AN Al ol ia(Q () AN Al Al Ll LAl () AN Al Al (R 4fy 4
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You land yourself a job wi@hanel UK
package design team. As a junior
package designgiou have been asked

to design a gift box set for the Christmas
season.

Beloware the two products to be incled in the
gift set. ey facts:

20cm l-

POUDRE UNIVERSELLE LIBRE
POUDRE LIBRE FINI NATUREL
NNNNNNNNNNNNN OOSE POWDER

CHANEL

10cm

10cm

1) Whatsized box would be needed to house both products? (give
dimensions). Is this the most efficient size?
2) Charel will also be offering an onliggt-wrappingserviceand need to
know howmuch wrappingaper will be used
1 Calculate the surface area of your gift box
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